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CHEMISTRY : English & Hindi

A+2B+3C = AB,Cy

Reaction of 6.0 g of A, 6.0 x10% atoms of
B, and 0.036 mol of C yields 4.8 g of
compound AB,C,. If the atomic mass of
A and C are 60 and 80 amu, respectively,
the atomic mass of B is (Avogadro
no.=6x10%) :

(1) 70 amu
(2) 60 amu
(3) 50 amu
(4) 40 amu

When does a gas deviate the most from its
ideal behaviour ?

(1) At low pressure and low
temperature

(2) At low pressure and high
temperature

(3) At high pressure and low
temperature

(4) At high pressure and high
temperature

At temperature T, the average kinetic

3
energy of any particle is B kT. The

de Broglie wavelength follows the order :

(1) Thermal proton > Visible photon >
Thermal electron

(2) Thermal proton > Thermal electron
> Visible photon

(3)  Visible photon > Thermal electron >
Thermal neutron

(4) Visible photon > Thermal neutron >
Thermal electron

Molecule AB has a bond length of 1.617A
and a dipole moment of 0.38 D. The
fractional charge on each atom (absolute
magnitude) is : (e;=4.802x 1010 esu)

1 0

2) 0.05
3) 0.5
4) 1.0

1.

A+2B+3C = AB,C,

6.0 g A, 6.0 x 1023 9T B q91 0.036 HidA C
& ATl 31 T 4.8 g AB,C, T Il 2 |
g A T91 C & T THAN %A 60 3R
80 amu &, A1 B 1 THTY] SHATM ¢ (STTENTS]
& =6x10%) :

(1) 70 amu

(2) 60 amu

(3) 50 amu

(4) 40 amu

T 19 o797 3TIey =aer | waifus fo=ed
el U ¢ 7

1) 7= 3@ R f1 9 W

2) 7 @ IR I qU W

(3) A T@ IR f AU W

(4) 3T R ITH AU W

U T W, fwdr oft sor skt 3frea fast S

2 Kr#1 2 e o

(1) qTdR e > g9 I > qriiY saiae
(2) ATE G > AT seaeM > 399 hied
(3)  3¥F WISH > AU Teisre[ > it =g
(4) S RIEH > AEE =2 > qHE eiaeq

3] AB &1 3T&Y &aTg 1.617A § 3R 3T
f5ga STeUl 0.38 D ¥ | Teh TXATY] W IR

e (fder ofmm) €
(eg=4.802x 10710 esu)
1) 0

(2) 0.05

(3) 0.5

(4) 1.0
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For the equilibrium, A(g) = B(g), AH is
—40 kJ/mol. If the ratio of the activation
energies of the forward (Ef) and reverse

(Ep)
1)
2)
)
)

—~

3

(
(4

reactions is = then :

3
Efz 60 kJ/mol ; E, =100 kJ/mol
Ef= 30 kJ/mol ; Ey =70 kJ/mol
Ef= 80 kJ/mol ; Ey =120 kJ/mol
Efz 70 kJ/mol ; E, =30 kJ/mol

Determination of the molar mass of acetic

acid

in benzene using freezing point

depression is affected by :

(1)
(2)
®3)
4)

dissociation
association
partial ionization

complex formation

The increase of pressure on ice = water
system at constant temperature will lead

to:
1)
2)

®)
4)

no effect on the equilibrium

a decrease in the entropy of the
system

a shift of the equilibrium in the
forward direction

an increase in the Gibbs energy of the
system

W QR & Ay, A(g) =B(g), AH
~40 kJ/mol €1 3R 377 (E,) SR wearm
(E,) tfufshanati & |ismao Sistietl 1 g
2

3 %, q9d ¢

(1 Ef= 60 kJ/mol ; Ey =100 kJ/mol
(2 Efz 30 kJ/mol ; E, =70 kJ/mol
3 Ef= 80 kJ/mol ; Ey =120 kJ/mol
4) Ef= 70 kJ/mol ; E; =30 kJ/mol

~

wfafes ot 1 HAieR g osia ° fedis
Ao 9 el 911 W 598 garferd gan &
T

1) foasE

(2) HIH

(3) SR AR
(4) HFa foa

fer qm W, eifush T TeM W ath= 5
T H
(1) TEE R HIE Y9TE Tel el ¢

2) e =t it st §

At 298 K, the standard reduction
potentials are 1.51 V for MnOZ‘MnH ,

1.36 V for CI,|CI~, 1.07 V for Br,|Br~, and
0.54 V for I,[I~. At pH=3, permanganate

is expected to oxidize : é.RF—T = 0.059 Vﬁ

(1) CI7,Br~ and I~
(2) CI” and Br™

(3) Br~ and I~

(4) I only

(
(3) ETETErERn 3T fown § STRR At 7
(

frerma &t fitsst Tt sredt B

298 K W |k 799 fawid, MnOj ‘Mn2+

& 1.51 V, CL|CI~ %1 1.36 V, Br,|Br~ &I
1.07 V &R LI~ %1 054 V¥ pH=3 W

MnOj f&Her! 3TFET ST ?

[(RT

iF

=o.059v§
Cl—, Br~ &R~
Cl~— 3R Br-
Br— Sﬁ'{l_

[~ 7=
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9.

10.

11.

12.

A+2B — C, the rate equation for this
reaction is given as
Rate =k[A][B].

If the concentration of A is kept the same
but that of B is doubled what will happen
to the rate itself ?

(1) halved

(2) the same
(3) doubled

(4) quadrupled

Under ambient conditions, which among
the following surfactants will form micelles
in aqueous solution at lowest molar
concentration ?

©) ©
(1)  CH4(CH,),;N(CH,),Br
(2) CH,—(CH,);3— OSO3 Na*

(3) CH,—(CH,)— COO” Na*

©)
(4)  CH,(CH,),;N(CH,),Br~

Choose the incorrect formula out of the
four compounds for an element X below :

(1) XyCly
(2) X045
(3)  X,(SO 4)3
4) XPO,

Calamine is an ore of :
(1)  Aluminium

(2) Copper
(3) Iron
(4)

4 Zinc

9.

10.

11.

12.

AfufsFar A +2B — C &1 X T €
W=K[A][B].

A 1 Figar feer T@d gUB &1 Figdl ST &

TR 7 T HF 18N 2

(1) 71 %@ Qe

(2) |HE @M

(3) FIME I

(

4) =R IR ST

R feafd W, H-g3 wishaes et foeem
o g9 A A Figu § fade samm ?

® ©
(1)  CH,(CH,),;N(CH,),Br
(2) CH;—(CH,);3— OSO3 Na*
(3) CH3 - (CH2)8 - COO@ Na*t

®
(4)  CH,(CH,),;N(CH,),Br~

T X & =R AR & P OH 8 Ted g9
IS

(1) X,Cly

(2)  X,03

(3)  X5(SOy)5

(4) XPO,

AT S TR 8, 98 ©
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13.

14.

15.

16.

17.

Which physical property of dihydrogen is
wrong ?

(1) Colourless gas

(2) Odourless gas
(3) Tasteless gas
(4) Non-inflammable gas

Which of the alkaline earth metal halides
given below is essentially covalent in
nature ?

(1)  MgCl,
(2) BeCl,
(3) SrCl,
(4) CaCl,

Which of the following compounds has a
P—P bond ?

(1) H,P,O5
(2) H4P,Oq
(3) HyP0,
(4) (HPO;);

Chlorine water on standing loses its colour
and forms :

(1) HCI only

(2) HOCI and HOCI,
(3) HCI and HOCI
(4) HCI and HCIO,

Which of the following statements is
false ?

(1) CrOi_ is tetrahedral in shape

(2) Cr,03 has a Cr—O—Cr bond
(3) Na,Cry,O, is a primary standard in
volumetry

(4) Na,Cr,0O, is less soluble than

13.

14.

15.

16.

17.

RS & e H sH-w difass T et
€2

(1) 9vEH 19

(2) TUEH T

(3) w@EEN 1§

(4) STITeA T

frefafed e gaT u1g & Famsel § | frae
HYE 9 § TeHASTE © 2

(1)  MgCl,
(2) BeCl,
(3) SrCl,
(4) CaCl,

feu M AR T A P-Pous frm A ®2

1) H,P,Os

2) HP,O,

(3)  H4P,0;

4) (HPO,),

FARA S S T & TN ST T @ <l
T ARSI

(1) e HCI

(2) HOCI 3R HOCL,
(3) HCI 3R HOCI
(4) HCI 3R HCIO,

= wedl 9 9 Tord Y g ?

(1) CrO] =qeFes™ SN F 2
2) Cr,07 ¥ TF Cr—0-Cr & T

3) &ETAl favdwor # Na,Cr,O, Th
T A 2|

(4) Na,Cr,0O, =i faerar K,Cr,O, ¥ %4
2
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18. When concelntrated FCZ isl added t? an | 18. & 9ifed HCI ! CoCZZ%W‘SﬁF{ﬁﬁ?ﬂW
aqueous solution of CoCl,, its colour S ¥ Tt
changes from reddish pink to deep blue. I, A N Wq ,ﬁ T et &
Which complex ion gives blue colour in this TPJIT | 39 sfufshar 9 M 9l el A& i
reaction ? 1 T HROT ] ?

(1) [CoClJ*~ (1) [CoClJ*~
(2)  [CoCl 3~ (2)  [CoCl 3~
(3) [CoCL]?~ (3) [CoCl,]>~
4)  [Co(H0)gl** (4)  [Co(H0)el**

19. VYhiCh of t}}:e following Con}PlﬁX if(‘)lrllsdhés 19. Frefafed sge s § 9 6w o 1 ¢,
electrons that are symmetrically filled in .~ > fi ;o
both tre and e, orbitals ? #n % FEH H TR AR E
(1)  [CoFg3~ (1) [CoFg]*~

2
(2)  [Co(NHy) 2+ (2) [CO(NH3)6]4_+
(3)  [Mn(CN)gl*~ ) IMn(CR)ql
(4) [FeF 3~ (4)  [FeFg]

20. Addition of phosphate fertilisers to water | 20. THIERS I Skl & fAeT | Srerer |
bodies causes : (1) Yt # sTenfuE gig B
(1) ‘enhanced 'growth of algae‘ Q) <o A foei e A A
(2) increase in amount of dissolved .

oxygen in water (3) hRfcHaH WiThe &1 &9 B T
(3) deposition of calcium phosphate 4) wafeal it Sfia gen ¥ gfg dd 2
(4) increase in fish population
21. @&ieW - [ ¥ fu v weifre dtfret 1

21. Match the organic compounds in e -8 S feomey e
column - I with the Lassaigne’s test results UAEE s
in column - II appropriately : I -

Column - I Column - II it - 1 ahiety - 11
(A) |Aniline (i) |Red color with (A) [tref= (i) |FeCly & &mer &t T
FeCl, (B) |[a=sfr (ii) [Sifeam TEIYERES ®
(B) |Benzene (ii) | Violet color with T 3T Ty GTTﬁ a1
sulfonic acid sodium (©) m (iii) [TCq 3Tt FeSO,
nitroprusside : > -
(C)|Thiourea (iii) | Blue color with hot kil Al
and acidic solution 1) (A)-Gi); B) - (i) ; () - (iii)
of FeSO, (2)  (A)- (D) ; (B) - ([) ; (©) - ()
() (A)- (D) ; (B) - () ; (O) - ()
1) (A - @) ; (B) - {); (©) - (i) . N .
@) (A)- (D) ; (B) - (@) ; (©) - (i)
2) (A - (i) ; (B) - (i) ; (O - ()
©G) (A -(); (B) - (i) ; (O) - ()
4) (A - (i) ; (B)- @) (©) - (i)
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22,

23.

Which of the following pairs
compounds are positional isomers ?

of

(1) CH,-CH,-CH,-CH,~ CHO

S
and CH3 —CH,—-CH,-C- CH3

(2) CH,-CH,-CH,- C—CH, and
O
CH, - CH—-CH,—-CHO
|
CH,
(3) CH,-CH,-CH,-C-CH,and
Il
O
CH, - CH, - C—CH, - CH,
Il
O

(4) CH,-CH,- C~CH,~CH, and

The number of structural isomers for CeHyy

is:
(1
(2
3
4

—~
N U1 B W

)
)
)
)

22,

23.

frafafes 9 9 ®9-9 A 9@ 993
TureEt € 2
(1) CH,—CH,—CH,—CH,—CHO 3R
@)
I
CH,—CH, - CH,—C—CH,
(2) CH,—CH,—CH,-C—CH, 3ir
I

O
CH, - CH—-CH, - CHO
|

CH,

(3) CH,-CH,-CH,-C-CH, ¥R
(II)
CH, ~ CH, ~C~ CH, - CH,
O

(4) CH,—CH,-C~CH,-CH, 3R

3
2) 4
5

6
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24.

25.

What is the major product expected from
the following reaction ?

CH,

In the reaction sequence

A

2 CHycHO m¥™ ma 2. B the

product B is :
(1) CH;-CH,-CH,-CH,—-OH
(2) CH;—-CH=CH-CHO
O
(3) CH,- Clll —CH,
(4) CH;-CH,—-CH,—-CH;,4

24.

25.

frefafaa srfufswan =1 wq@ saae o €2
CH,
D-CI

SRl D - BIEEIeT 1 qHEenfis § |
CH,
(1) @cz
D
CH,
(2) @Cl
H
D
) @CH3
Cl
D
(4) @Cm
H

frefafed sl 9§ SA B® ¢

2 CH;cHO ™ ma 4. B

(1) CH,—CH,—CH,~CH,~OH
() CH,—CH=CH-CHO
0
CH, - c- CH,
CH,— CH,—CH, —CH,

(3)
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26. Which compound exhibits maximum | 2¢. f=fafeg § 9 -9 9ifite gaitas feya

dipole moment among the following ? STt gt 27
NO, NO,
(1) @ (1) @
NO, NO,
(2) 2
NH, NH,
NO, NO,
gel a
3
NH, ) NH,

NO
2 NH, NO, NH
(4) (4) @ 2

27. Which one of the following structures
represents the neoprene polymer ?

o o o

27. agde FEMH 1 S frefate gwEmst

HqHHA-9 &2

{CHZ—C=CH—CH2}
| n {CH ~C=CH- CHZ}
n

Cl

{em-qn) ) Lo, CH}

CN

CH,-CH
{ 2 k 3) {CHZ—(EHi:

Cl

Cl
Lonom
' n 4) *{ CH-CH, }7
C6H5 | n
CH;
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28.

29.

30.

Accumulation of which of the following
molecules in the muscles occurs as a result
of vigorous exercise ?

(1) Glucose

(2) Glycogen

(3) L-lactic acid
(4) Pyruvic acid

Which artificial sweetener contains
chlorine ?

(1) Aspartame

(2) Saccharin
(3) Sucralose
(4) Alitame

A pink coloured salt turns blue on heating.
The presence of which cation is most
likely ?

(1) Cu2*
(2) Fe2*

(3) Zn2*
(4) Co2*

-00o0-

28.

29.

30.

ST AN & helawy, IiaufEn o fea

AT 1 H=ra BT § 2

(1) I

(2) TorRISE

(3) L-difes st

(4) UEfaw s

fore Hiom Ty § Tl © 2
(1) TweH

(2) I

(3) T

(4) TUferem

Teh ATl a0, TR HLA W el 8 < ¢ |
A0 § TR FEE & B9 i Tl G9e
7?2

(1) Cu?*
(2) Fe2*

(3) Zn2*
(4) Co?*

-00o0-
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